Government Tender Notice

Invitation of Tender Notice No. 45,46,47,48,49 /Seri/Eng/PCR/COB/2019-'20.

Sealed Tenders are invited by the Executive Engineer, Textiles(Sericulture). West Bengal, 45, Ganesh Chandra Avenue, (2nd floor), Kolkata-13 for the following works at Khagrabari Sericulture Composite Unit, Coochbehar under P.C.R. from the bonafide experienced and resourceful contractors having experienced in such type of works in pure Govt. Department/Zilla Parishad.

Tender No.	Name of the Work	Estimated Cost	Earnest Money	Place of Work.	Time of completion of work.
45	Repairing of existing unit office building including S & P works to be converted office of the Deputy Director of Sericulture, Coochbehar at Khagrabari Sericulture comp. unit, Coochbehar under PCR.	Rs. 99,921.00	Rs. 2500.00	Khagrabari Sericulture Composite Unit, Coochbehar.	1 (One) month from the date of issue of Work Order.
46	Repairing of Type C Qtrs (1 st Floor) including S & P works to be converted of Unit office (E.O) for Khagrabari Sericulture Composite Unit, Coochbehar under PCR.	Rs. 99,953.00	Rs. 2500.00	Do	Do
47	Repairing of damaged electrical wiring with accessories for office building of the Deputy Director of Sericulture, Coochbehar at Khagrabari Sericulture comp. unit, Coochbehar under PCR.	Rs. 99,707.00	Rs. 2500.00	Do	Do
48	Repairing of damaged electrical wiring with accessories for office building of the Unit Office (E.O) at Khagrabari Sericulture comp. unit, Coochbehar under PCR.	Rs. 55,937.00	Rs. 1400.00	Do =-	Do
49	Sanitary and Plumbing works with allied works for office building of the Deputy Director of Sericulture, Coochbehar and office of the Unit (E.O) at Khagrabari Sericulture compunit, Coochbehar under PCR.	Rs. 80,791.00	Rs. 2020.00	Do	Do

Tender papers (NIT), Priced Schedule & Form-2911(ii) etc. may be obtained/downloaded from seriwbgov.org at free of cost.

Tender should be submitted/dropped in the box kept at Head Quarters, Kolkata and papers should be arranged in the following manner.

Last date & time of submission of Tender	02.07.2019 upto 3-00 P.M. at Head Quarters, Kolkata.
Date & time of opening of Tender	02.07.2019 at 3-30 P.M. at Head Quarters, Kolkata.

Envelop - I, should be superscribed as Technical Bid for N.I.T No......SL No. of Work, Name of agency and it should contain (Self Attested) PAN Card. Last I.T. Return, valid GSTIN Registration, Professional Tax Challan, Credential (similar nature of work at about 60% of Tender Value) EMD etc. Electrical and Supervisor license for the work (NIT no. 47, 48) and sealed.

Envelop - II, should be super scribed as Financial Bid for N.I.T. No....... SL No. of Work. Name of Agency and should contain filled in - 2911 (ii) quoting the Rate and Sealed.

2(two) envelopes as noted above (I & II) should be put in a bigger envelop and sealed. Agency should write / N.I.T. No., Name of Work, SL.No. and Name of Agency on this Envelope and drop the same as per schedule dioned in this N.I.T.

Technical Bid will be opened first. Financial Bid will be opened only if the technical Bid is found acceptable. Labour cess will be deducted from bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles(Sericulture), West Bengal, 45, Ganesh Ch. Avenue (2nd floor), Kolkata-13 on any working days and web site *seriwbgov.org*. The Commissioner of Textiles(Sericulture), West Bengal reserves the right to reject/cancel all the applications without showing any reasons thereof. If any date as above happens to be holidays the next working days will be considered as stipulated date. Acceptance of lowest tender is not obligatory.

N.S.C./K.V.P. will not be accepted as Earnest Money. Only the Bank Draft of a Nationalised Bank will be considered as Earnest money. Acceptance of lowest Tender is not obligatory. Notwithstanding anytime contained in this Notice Inviting Tender, the other terms & conditions and special terms & conditions will remain binding upon all concerned.

Executive Engineer,

Directorate of Textiles (Sericulture),

West Bengal.

Memo. No. 175(5) Memo. No. 175(5)

Dated, 196 2019.

Copy forwarded for information & necessary action to :-

- 1. The Deputy Director, Sericulture, Coochbehar.
- 2. The Notice Board of this Directorate, Headquarters, Kolkata.
- 3. The Website of this Directorate of Textiles (Sericulture), West Bengal.

Executive Engineer,
Directorate of Textiles (Sericulture),
West Bengal.

Price Schedule for repairing of Type-C quarter (1st Floor) including S & P works converted to unit office for Khagrabari Sericulture comp. unit Coochbehar under PCR.

	Dismantling RC floor beams etc including cutting rods and removing rubbish as directed.	1.00 m ³	1956.00/m ³	1956.00
12	Dismantling all types of plain cement concrete works. Stacking as directed. Within a lead of 75 m.	0. 30 m ³	939.00/m ³	282.00
3	Stripping off worn out plaster and racking out joints of wall			
13	ceiling etc. up to any height, and in any floor including			
	removing rubbish as directed. Within a lead of 75 m.	20 m ²	$19.00/m^2$	380.00
)4	Ordinary cement concrete (Mix 1:2:4) with graded stone chips			
) 1	(20 mm (20mm dia) excluding shuttering and reinfrorcement		4069-0014	2
	if any River Bazri (i) In G.F.	0.20 m^3	4069-001 469.00/m ³	814.00
)5	Ordinary Cement concrete M-15(mix 1:1, 5:3) with graded			
	stone chips (20mm dia) excluding shuttering reinfrorcement			
	River Bazri	1.00 m ³	4807.00/m ³	4807.00
06	Hire and labour charges for shuttering with centering and			
	necessary staging up to 4 m and thick hard wood planks of			
	approved thickness with required bracing for concrete slab,			
	beams etc. including fitting and fixing and striking out after			2206.00
	completion of works with staging.	7 m ²	328.00/m ²	2296.00
07	Reinforcement for reinforced concrete work in all sorts of			
	structure including distribution bars, stirrups, binder etc.			
	and removal of loose rust (If necessary) cutting to requisite			
	length, hooking and bending to correct shape, placing in			
	proper position and binding with 16 gauge black annealed			
	wire at every intersection complete as per drawing and	80 Kg	73.74.00/Kg	5899.00
	directed. Tor Steel. (i) in G.F.	ou ng	73.74.00/1kg	0077.00
08	Labour for taking out doors and windows including shutter			
	for repair and replacement of different parts of the frame and	to:		
	re fixing the same including mending good all damage	13.30 m ²	119.00/m ²	1583.00
	complete.	13.30 111	113.00/111	
09	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as			
	directed And racking out joints or roughening of surface			
	including threating, nosing and drip course where necessary.			
	(A) In G.F.: (i) With (6:1) cement mortar(inside), 20 mm thickness.	30 m ²	161.00/m ²	4830.00
1.0	S/F/F 1st quality ceremac tiles in walls and floor to match			
10	with the existing work and 4 nos of key stones (10mm) fixed			
	with Araldite at the back of each tiles. And finishing the			1729-
	jointing with white cement. (i) floor	2.34 m ²	739.00/m ²	1719.00
	(ii) Wall	7.40 m ²	$745.00/m^2$	5513.0
11	Panel shutter of doors and windows as per design including			
1 1	fitting and fixing the same in position but excluding the cost			
	of hinges, 35mm thick shutter with 19 mm thick panel.	3.15 m ²	2789.00/m ²	8785.0
12	Shutter 2/3rd panel and 1/3rd glazed of doors and windows as			
-	per design and with ordinary glass fitted with putty bed and			01500
	teak wood beads and nails including fitting and fixing shutter			21566.
	in position, 35mm thick shutter, 19 mm thick panel.	7.08 m ²	3046.00/m ²	
13.	Iron butt hinges of approved quality fitted and fixed with steel			
	screws with ISI mark.(i) 75mm x 47mmx1.70mm.	24 Nos.	' V pach's re-	
	(ii)100mm x 58mm x 1.90mm	12 Nos.	47.00/each	564.0
14	Iron socket bolt of approved quality fitted and fixed complete.	*	Consegue passesson rate	400.0
- 1	100mm long x 10 mm dia bolt.	12 Nos.	40.00/each	480.0
15	Iron skeleton bolt of approved quality fitted and fixed			104.0
_ ~	complete, 375 mm long x 10 mm dia. Rod.	2 Nos	92.00/each	184.0
16	Iron hasp bolt of approved quality fitted and fixed completes			
200	with 16 mm dia rod with center bolt and round fitting 300mm			222.0
	long.	2 Nos	. 166.00/each	332.0
	1 1' C' 1 1 1 C' 1 1 C' 1 1			
17	shuttering and chowkat 6mm dia x 100 mm long.	10 Nos	36.00/each	360.0

[Type text]

M

	,			
	Anodized aluminium D-type handle of approved quality, fitted		,	,
12	& fixed complete 100 mm grip x 10 mm dia.	8 Nos.	69.00/each	552.00
19	White washing including cleaning and smoothening surface			
-	thoroughly - 2 coats.	231 m ²	18.14/m ²	4190.00
20	Priming one coat on plastered or tinber surface including			
	smoothening surface by sand of papering etc.	25 m ²	38.00/m ²	950.00
21	Painting with best quality synthetic enamel paint of approved			
	make and brand including smoothening surface by sand		e	
	papering etc. including using of approved putty etc. on the			
	surface2 coats if necessary.(i) On timber wood	56 m ²	81.00/m ²	4536.00
	(ii) On steel	10 m ²	$79.00/m^2$	790.00
22	Dismantling Orissa pattern W.C. including taking out of base			
	concrete, if necessary complete.	1 Nos.	45.00/each	45.00
23	S/F/F Orissa pattern ;water closet in white glazed vitreous			
	china ware of approved make in position complete. Excluding			
	P or S trap (530mm x 410mm)	1 No.	1522.00/each	1522.00
24	S/F/F Cast iron P or S trap conforming to I.S. 3989/1970			
	including lead caulked joints and painting S trap 100 mm dia.	1 Nos.	803.00	803.00
25	S/F/F UPVC Pipe (B-Type) 110 mm dia.	4.60 m²	292.00/m4	1343.00
26	S/F/F 10 litre porcelen low down cistern of approved make		232.00/1114	10 10.00
	with out fittings and brackets.	1 No.	2297.00/each	2297.00
27	S/F/F PVC pipes of approved make of schedule 80 (Mesium		=======================================	
	duty) covering to ASTMD-1785 20mm dia.	10 m	129.00/m	1290.00
28	S/F/F bib cock or stop cock chromium plated bib cock code		123.00/111	1230.00
	No. 511 model: tropical	4 Nos.	539.00/each	2156.00
29	S/F/F Towel Rail with 2 (tw0) brackets C.P. over brush 25mm		000,000,0001	
	dia 450 mm long.	1 Nos.	475.00/each	475.00
30	S/F/F Beveled edged mirron 5.5 mm thick silver red with			170.00
	brush cp-hinges 450 x 300.	1 Nos.	367.00/each	367.00
31	S/F/F white vitreous china best quality approved make wash			007.00
	basin with C.I. breaks approved quality PVC waste pipe with			
	32 mm dia, 550 mm x 400 mm.	1 Nos.	2208.00	2208.00
32	S/F/F flat back urinal white vitreous china ware of approved			2200.00
	make in position with brass screw 470 mm x 280 mm x 340			
	mm.	1 Nos.	945.00	945.00
33	S/F/F squatting plating with integral flushing in white			2.000
	vitreous China ware of approved make in cement concrete			
	(6:3:1) with chips 450mm x 350mm.	1 Nos.	881.00/each	881.00

Rs. 88454.00

Add G.S.T. 12 % (+) Rs. 10614.00 Add Labour Cess 1 % (+) Rs.

885.00 Rs. 99953.00

(Rupees Ninety Nine Thousand Nine Hundred Fifty Three) only

Executive Engineer,
Directorate of Textiles (Sericulture)
West Bengal.